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SRl JIGEZ AN (chel: =
SA-E . S(E) - MEAY - BES O & o4 o1& o SImE=ET
S AIJH &t 3,486,550 186,897 3,299,653
= 2,933,000 0 2,933,000
Al 553,550 186,897 366,653
SAIDHE A 2,999,683 93,495 2,906, 188
= 2,933,000 0 2,933,000
Al 66,683 93,495 226,812
IS AR 54,551 60,015 A5,464
BAFINS AN 41,413 46,015 N4,602
201 BH2EH] 21,973 24,415 AN2,442
01 AtR2teld] 10,836 12,040 A 1,204
O1 Let==2H| 10,836 12,040 A 1,204
DIIGEAl B4R SE(SAEX )
Z2& 5,796,000& 5,796 7,000 A1,204
02 22=294H| 11,137 12,375 N1,238
O1 3322 % HAl 11,137 12,375 A 1,238
DIIHEA BAHUR RERS
Z & 10,137,000& 10,137 11,375 N 1,238
202 O4Hl 19,440 21,600 A2,160
01 =UWobl 19,440 21,600 A2,160
OJISEEZANEY NALELHREFE 0l
Z 3 19,440,000& 19,440 21,600 22,160
SANEAISE =2 2F 3| 13,138 14,000 A 862
202 OdHl 6,838 7,000 A 162
03 =20l 6,838 7,000 A162
OAI AR =ol 2l 0 H Z & 6,838,000 6,838 7,000 AN162
203 HEF=4H 6,300 7,000 AT700
03 AIMFAALR=EH| 6,300 7,000 A700
OZANEASE = 23 6,300,000 6,300 7,000 A700
SMEAHE 2,945,132 33,480 2,911,652
= 2,933,000 0 2,933,000
Al 12,132 33,480 221,348
SMEZANAHAE X 12,132 33,480 A21,348
201 LEH23H] 6,300 27,000 A 20,700
01 AtR2eltl 6,300 7,000 A700
O1 get==ZH| 6,300 7,000 AT700
DEAMEA 283 MH
& & 5,300,000 5,300 6,000 AT700
03 HAt2EHI 0 20,000 A 20,000
OEtot St e & Ar2 | 238 03 0 20,000 220,000
202 OdHl 5,832 6,480 A648
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CHel: A AR (50 &2
SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
01 =Ljoit] 5,832 6,480 648
OHAZAHLNALREZ
3H 5,832,008 5,832 6,480 ~648
SUTA WYT2 MM U 2 2,933,000 0 2,933,000
= 2,933,000 0 2,933,000
401 Al&HI L2 | 2,933,000 0 2,933,000
= 2,933,000 0 2,933,000
02 AAIZHH 933,000 0 933,000
O SAGA MUAT2 ALY SHEDA &
A& HH (AR ALS) 933,000,0002 *14! 933,000 0 933,000
2 933,000 0 933,000
03 EXIOHEHI 2,000,000 0 2,000,000
O SACA MUT2 ALY SHFDAEX
DN Bl (AL ALR) 2,000,000,0002 *14] 2,000,000 0 2,000,000
2 2,000,000 0 2,000,000
APRICHR| X 4 413,982 17,480 396,452
B ALY EH T E & 413,982 17,480 396,452
FIERI(AZ) LI XA 406,444 7,160 399,284
201 L2yl 4,500 5,000 500
01 AtRZ2lHl 4,500 5,000 A500
O1 Yer2gH| 3,500 4,000 A500
>UAXBDE(BYLEE XNPXE)
3 3,500,008 3,500 4,000 A500
202 OdHl 1,944 2,160 A216
01 =2UHoit] 1,044 2,160 ~216
QMBI ZLLEN AT 1,944,0002! 1,044 2,160 ~216
401 Al&HI L= | 400,000 0 400,000
01 JI=EAHE AL 400,000 0 400,000
O HF MI(AZ)YEHAQEIR JHe =
»2 400,000,0002! *14] 400,000 0 400,000
AFEN4(PE) LB TS 5,544 6,160 ~616
201 greg| 3,600 4,000 A400
01 AtR22lHl 3,600 4,000 A400
O1 YeragH| 3,600 4,000 A400
>UAXNBDE(NPNE, HLDEHHS
5B} A3 3,600,0002 3,600 4,000 A400
202 Ofl 1,044 2,160 ~216
01 =2Uyoit] 1,044 2,160 ~216
OIS EF e AT 1,944,0002! 1,044 2,160 ~216
SOLR5(8HH K| 7) L BHAIRI BRI K 1,944 4,160 A2,216
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A -3 -H2A(SH) - HEAMY - BES Of &F 2K | = e Hlns2t
201 Yer29 0 2,000 A2,000
01 At222/H 0 2,000 A2,000
O1 L2 0 2,000 A2,000
DA BNS(SF NS HHSSEHIL)
323 o0& 0 2,000 A2,000
202 04l 1,944 2,160 N216
01 ZUHoil 1,944 2,160 A216
OMACHN ZL AR EXI 3 1,944,000 1,944 2,160 A216
HY2H A 72,935 75,922 A2,987
OISR AYI (S AN D) 43,454 43,754 A300
OIS HHI (S A D) 43,454 43,754 A300
203 YR=ZH 7,660 7,960 A300
01 JIASRILLTXIY| 2,700 3,000 A300
o2 A 2,700,000 2,700 3,000 A300
I 2ZHI (S AIDHL D) 29,481 32,168 NA2,687
JI=2ZHI(S A D 29,481 32,168 A2,687
201 gty 16,891 18,768 A1,877
01 At®22lH 15,086 16,740 A1,674
O1 L4224 12,666 14,340 A1,674
DENSILSSH(SAEX Q)
3 6,726,000 6,726 8,400 N1,674
02 B329H 1,825 2,028 A203
O3 A& & Hl S 985 1,188 A203
> =2 A X 23X 797,000& 797 1,000 A203
202 Ol 7,290 8,100 A810
01 =ZUHoil 7,290 8,100 A810
OJlege4aoil 2 7,290,000 7,290 8,100 AB810




